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June - Examination 2018

M.A. (Previous) Economics Examination

Quantitative Methods
Paper - MAEC-04

Time : 3 Hours ] [ Max. Marks :- 80

Note:

ﬁi@T :

Note:

ﬁ{{QT :

The question paper is divided into three sections A, B and C. Write
answers as per the given instructions.
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Section - A 8§x2=16
(Very Short Answer Type Questions)
Section ‘A’ contain eight (08) Very Short Answer Type Questions.
Examinees have a attempt all questions. Each question is of 02
marks and maximum word limit may be thirty words.
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1) Give answer of the following questions.

(1) What is linear function?

WRap Hol T 2?2

(i1)) What is continuity?

foRdRar fory ed 87°

(i11)) What do you understand by Feasible Region?

T &5 I 319 T AT & 7

(iv) Define Primary Data.

Ty 3fidhel Bl IRYTRT HIfTT

(v) Define Census Survey.

TV AT pl IRYTRYIT HifeTu|

(vi) What is Standard Error?
THY Iy = g ?

(vil) What is the full form of NSSO?
T, Q¥ Q9. 31T, T ORT I -1 g 2

(viii)Write the formula of Laspere’s Method in Index?

TaHD § R fafer a1 9 faaReu)
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Section - B 4 X8=32
(Short Answer Type Questions)

Note: Section ‘B’ contains Eight Short Answer Type Questions.

Examinees will have to answer any four (04) questions. Each
question is of 08 marks. Examinees have to delimit each answer
in maximum 200 words.

(Tvs - 7)
(oTg ITRIT UeA)

fAder: @us ‘T’ # o7 g SR UBR & U &, WalRiAl @1 gl

2)

3)

4)

5)

6)

ft TR (04) FaTell & A€ o7 g1 Tdd 9T 08 il 3T gl
wiefat @1 arfdrpad 200 gl § YRS StaTg aRHEAHT v
gl

Give some examples of the use of partial differentials.

31T 3raderst & TRINT P& ITERUT S|

What is the difference between determinant and matrix?

ARviies g Jfeaa § a7 IR 8 ?

Explain frequency distribution by the help of table.
JNFIRAT S Dl RO & JqTegH A IRET HIfT|

What are the main features of Index number?
JIDID DI TG fALan a7 g ?
Find out the Standard deviation coefficient of the following data of

10 students.

10 fenffat & wHet | v g e Mt
X | 41| 44 | 45|49 | 50 | 53 | 55 | 55 | 58 | 60
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7)  Explain difference Regression and Correlation.

TETE=Y Td TR § 317 IR hIoTU|

8)  Write the properties of Normal Distribution.

T faaRor it fawan foaRaul

9) Discuss the meaning and difference between relations and functions.

FEIY TG ot T 37ef Td 599 3R hl Tl hIforg|

Section - C 2X16=32
(Long Answer Type Questions)

Note: Section ‘C’ contain 4 Long Answer Type Questions. Examinees
will have to answer any two (02) questions. Each question is of
16 marks. Examinees have to delimit each answer in maximum
500 words.

(Tvs - 9)
(Sref ST 1)
fAder s gus ‘' H 4 ferutcAd yed B wenffal o faegl off
g (02) Fatal & A o7 81 UAd U 16 3Dl P B
Tienffat @t rferpad 500 926G H Tie Siare aRwdAa e
]

10) How many types of graph used in Statistics? Explain them by making

diagrams. What are the limitations of these graphs?

Qifeadhl ° i fody TR & gId 22 JEIRE g9 I
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11) Find out the Fisher Index from the following information.

o g & HTEH A {heR BT Yarbih I DI

Hed (Price) HIAT (Quantity)
o] | R as | welay | R ad | Tl ad
(Item) | (Base Year) | (Current Year) | (Base Year) | (Current Year)
A 6 1 50 56
B 2 2 100 120
C 4 6 60 60
D 10 12 30 64

12) Explain any four of the following:
71 9 9 fegt IR &t e Hifom)

(i) Hawkins-Simon terms

HIERSIFE RN

(i1) Assumptions of static input output model.

wfe Smrafrfa fasewor aFgan

(ii1) Solve the following equations by Cramer Rule.

foreT AR @l SR R I goT hifvTul

X; T xgtx3=13

2= x—x=0

3x;+ 4xg +x3=8
(iv) Prove that

IECAISY

0 ab® ac’

@b 0 b’ = 24820568

a’c b%c 0
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v) IfA=

4
3 then find out |A?|

ZrFq’A=‘_; _:‘%HMAZ@HEF@H

d
13) Find out a’_y of any two of the following:

ﬁﬁfﬁﬁﬁv_ﬁa‘faﬁr . ST Ifre:

1 y= (3x + 5x)(2x + 3x)

3% — 5x
6x> + 7x° — 10

(i) y=
(1i1) ¥+ 2xy + y3 — xy2 =0

(iv) 6x° = y3
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